TIME : 2 Hrs. MARKS : 60

N.B. : 1) Allthe questionsare compulsory.
2) Figures to theright indicate full marks.
Q.1. -A) Explain the relationship between AR and MR under perfect competition with

Q.4.

the help of table and diagram. [08]
B) Calculate AR and MR from the following. [07]

Units TR AR MR

1 1000 -

3 1200

3 1500

4 2000

OR

C) Explain the objectives of a firm. [08]

D) Explain the concept of Break-even Analysis. Calculate Break-even point
from the following. » [07]

Fixed Cost = Rs. 20,000 Price = Rs. 50 Ibrunit
Variable Cost = Rs. 30 per unit.

. A) Discus the features of perfect competition. ' [08]

B) Explain the short-run equilibrium of a firm under monopoly. [07]
OR

C) State the wastages under monopolistic competition. [08]

D) Bring out the features of oligopoly.

. A) Write a note on Transfer Pricing Method. [08]

B) Explain Full Cost / Cost-plus pricing and calculate price of the product from

the following. [07]
AFC = Rs. 2500 AVC = Rs. 2000 Profit Margin = 15% of Cost.
OR
C) Discuss the importance of capital Budgeting. [08]

D) Find the present value of Rs. 100 to be received every year for 4 years when
the rate of discount is 12% per annum. [07]

Write noteson :  (Any Two) [15]
A) Short-run equilibrium of a firm under perfect competition.
B) Types of price Discrimination

P.T.0,



C) Multi - Product pricing method
OR
A) Variables influencing Break even point
B) Types of product differentiation
C) Pay Back period method.
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